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No BT FEH HEniEsE t 134 + ) L-137 SEE
Bag. kg Ba. kg Ba ke
1 INERHT R7.4.21 BEERLULM=F (FBE% BREE9(<3.1) BRHET(<24) BRHEEY
2 wmeh R7.4.21 HoU () BRHEE9(<6.7) BREET(<4.1) BHEEY
3 WhEt R7.4.21 HoU () BRHET(<45) 222 22
4 WhET R7.4.21 HoU (FHE) BREE9(<5.1) BRHEE9(<4.0) -
5 WhEmh R7.4.21 HoU () BRHET(<4.9) BRHE9(<3.2) BREed
6 FEH R7.4.21 HoU (FHE) BRHEE9(<6.1) BRHEE9(<5.1) -
7 FEH R7.4.21 HoU () BRHEET(L7.7) BRHE9(<6.3) BRHEET
8 FEH R7.4.21 HoU () BREE9(<4.5) BRHEE9(<3.8) BT
9 FEH R7.4.21 HoU () BRHET(<47) BRHET(<4.9) BRHEET
10 FEH R7.4.21 HoU () BREE9(<54) BRHEE9(<3.8) BT
11 FEH R7.4.21 HoU () BRHEE9(<6.4) BRHEE3(<48) BEed
12 FEH R7.4.21 HoU () BRHEE9(<45) 245 25
13 i g R7.4.21 HoU () BRHET(<48) 5.11 5.1
14 Zth R7.4.21 HoU(F4E) BRHEE9(<5.8) BRHE9(<5.0) - daskcac
15 =Pl R7.4.21 HoU(F4E) BEE9(<6.1) BRHEEI(L5.7) BEed
16 EZATH R7.4.21 HoU (F4) BREE9(<43) BRHEET(<47) BrEed




BREHR

No 15 £RE A AHDEHE > L-134 > L-137 BEIE
Ba ke Ba ke Ba kg

17 & R7.4.21 HEU(FE) BRHEE9(<42) BRHEEY(<3.1) BRHEEY
18 AET R7.4.21 Ho U (FE) BRHE9(<43) BRHE9(<43) > Jarkcacl
19 REH R7.4.21 Ho U (FE) BRHEY(L5.1) 147 15

20 Hh = BT R7.4.21 Ho U (FE) BRHE9(<5.8) BRHEE9(<5.4) > Jarkcacl
21 KESHT R7.4.21 OOV (FFHE) BHET(<47) BRHEET(<47) BRHEd
22 FHH R7.4.21 Ho U (FE) BRHE9(<6.2) BRHE9(<5.2) > Jarkcacl
23 =pa R7.4.21 AE (HHE) BRHE9(<7.9) 7.14 7.1

24 =57 R7.4.20 SE(FE) BRHE9(<5.0) BRHE9(<2.9) BRHEEY
25 L) R7.4.21 AE (HHE) BRHE9(<5.9) BRHEE9(<7.2) BRHEEY
26 RESHT R7.4.21 SE(FE) BRHE9(<5.3) B 9(<4.0) BRHEEY
27 ) R7.4.21 A5E () BRHE(<38) BRHEET(<41) BRHEY
28 EZA™ R7.4.20 =& (FE) BRHE7(<6.8) BRHE9(<5.5) BRHEY
29 = BHT R7.4.21 =50 (F4) BRHE9(<6.1) BRHE9(<5.9) BRHEY
30 K WRHET R7.4.21 =& (FE) BRHE9(<6.8) 15.6 16

31 aJIEr R7.4.21 =08 (F4E) BRHEE$(<57) BRHE9(<4.8) BRHEY
32 AJIET R7.4.21 =om& (FE) BRHE9(<5.3) BRHEET(<4) BRHEEY
33 LB R+ R7.4.21 (EZFTD(ITH) (F4) BRHEE9(<7.6) B 97(<6.5) BRHEY
34 £ LIET R7.4.21 (EFTD(ITH) (B4) BRHEE9(<42) R 9(<5.6) BRHEEY
35 F=EHT R7.4.20 SEDES () BRHEE9(<6.4) BRHE9(<5.1) BREEY
36 P EF R7.4.20 IO (B 4) BRHEE7(<4.0) BREE9(<49) BRHEEY




BREHR

No BT REH REDIELE t 134 3 L-137 BEIE
Bg kg Bg kg Ba ke
37 K ERHT R7.4.21 =T () BRHET(<5.9) BRHE9(<5.2) BRHEET
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